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ZHLOXA—8Fx (BHA)

LA A% RE %5 K5 (H] = "5 H A Z—=N)L
H x> (Cape) 1000mg/m/[E  |1H2[H] PO dayl~14
v X7 ZF > (CDDP) 80mg/m 12049 div dayl
XP+Tmab 21H
L 8mg/kg (KD 904 (#I[=)
N2 X X< 7 (Tmab) div dayl
emg/kg 3049
7)Aoy 7L (5-FU) 800mg/m/day |1200FMH civ dayl~5
>R 77 F > (CDDP) 80mg/m 1209 div dayl
FP+Tmab 21H
. 8mg/kg (#[E]) |90 (#[El)
N2 XY X<7 (Tmab) div dayl
6mg/kg 309
TH7—IL - FAZI)L - T 7L (S-1) |[40~60mg/[=] 1 H2[e] PO dayl~14
A4 77 F> (L-OHP) 100~130mg/m |120% div dayl
SOXxTmab 21H
o 8mg/kg (#[E]) |90 (#[E])
N2> XY X<7 (Tmab) div dayl
6mg/kg 309
FF*HYUT7Z7F > (L-OHP) 85mg/m 1209 div dayl
LARARY F— K (-LV) 200meg/ 12043 div day1
MmFOLFOX6 14 H
ZAow L (5-FU) A00mg/m 1~29> iv dayl
ZAaw 7L (5-FU) 2400mg/m A6 5[] div dayl~2
FTHT7—IL - FXZ2) - FF7F2L (S-1) |40~60mg/[=] 1H2[A] po dayl~14
S-1+DTX 21H
K+t (DTX) A0mg/m 609 div dayl
FTHT7—IL - FXZ2) - FF7FL (S-1) |[40~60mg/[=] 1 H2[] po dayl~21
S-1+CDDP 35H
v X7 ZF > (CDDP) 60mg/m 1204 div day8
RAM Z L~ 7 (RAM) 8mg/kg 30 (#[E1604>) |div dayl 14 H
Z L~ 7 (RAM) 8mg/kg 30 (#1[E1604>) |div dayl. 15
PTX + RAM 26H
R Y xxtiL (PTX) 80mg/m 609 div dayl. 8. 15
Z L~ 7 (RAM) 8mg/kg 30 (#[El604>) |div dayl. 15
nab-PTX = RAM 28 H
TILT I UREER /) %41 (nab-PTX) |100mg/m 30 div dayl, 8. 15
IR A9/ 7h> (IRI) 150mg/m 907> div dayl 14 H
Nivo (218) —RI~<7 (Nivo) 240mg/body 309> div dayl 14H
Nivo (438) —hrI~<7 (Nivo) A80mg/body 309 div dayl 28H
SRV TTIVG AT H YV NS RV TTIVG AT H YV 6.4mg/kg 309 (#1[E]1904) |div dayl 21H




